5 REMEOCERRUVEER
(1) AEMEOERER LY

AT, B2 GREER) R SR & U R ),

) LTI L > TR L7z, /RO R L WA Z R 3ITTT,

E R 1 RO e (G

(£3)
K| v - a3 | /MR N ST o U SR IR | /K Bl A
— WA O FRpUN 1 4%1
- SCWRIZ VS T2 RBLOFRAE IR (1/5) 1 4% 1
BOfA = DD OFLfE RN (1/5) 1 4X1
— | Gammysrs) | M| WAOHAE @R (1/5) 1 61
En W& O BRAE =P (1/5) 1 6X1
Ay LEEEONFLYE =R (1/5) 1 6X1
<6> 330,58
— D1 o Ffi IR (1/5) 1 2X1
- D 1F O B i =R (1/5) 1 2X1
. = D1 O Ffig =R (1/5) 1 4%1
- (iigﬁ;) my FEBLO R FRpUN 1 4%1
B L5 O PR A BRIk (1/5) 1 4% 1
N FELOPLR N (1/5) 1 4% 1
<6> 320,58
— B E R
(1) 77 7 OFMEOIER R (1/5) 1 2% 1
@ FFOEFOME IR (1/5) 1 2% 1
() FEFE DRI R (1/5) 1 3X1
— [E5E HAE (4) FLF DOERR DO TR R (1/5) 1 3X1
| @R | | RBoM# AR (1/5) | 2% 1
= SCHERI R R IR (1/5) 1 2% 1
Iy H & T3 T RE D IR (1/5) 1 2% 1
E Xt FEFE D A =R (1/5) 1 2X1
N T O EEZTDY FRpUN 6 2X6
14> #3058
— JEE S B AR 44 18 O D R EaBUN 1 2% 1
- W2 O PR 1R R (1/5) 1 2X1
= W2 O PR 1R R (1/5) 1 4x1
mo| Ao GE30) | M N2 D HLfiR FERBUN 1 4% 1
B L5 O PR A BRIk (1/5) 1 4% 1
N BN O HLfig IR (1/5) 1 4% 1
<6> 3208




(2) #3A - KEA - DERIEZEER
ROK AL, FO, EEZICHEINTZ10%DEFEDH R AL LT, EEE (%) %
KROTZbDOTHD, UNHBOIEZERIL, F/NMOINEFE)

(& 4)
VN 5 F A B WETR | MERR | FERK | Zoft AR
R AN | BEAR | 2,6744 1484, 604 534 1124 3,0474
— 4 82.7 77.0 73.3 71.7 72.3 81.7
. 4 66.3 49.3 53.3 49. 1 50.0 64. 3
= 4 69.0 48.0 48.3 49. 1 50.0 66.5
— Py 6 68.9 58.8 73.3 54.7 58.9 67.9
En 6 59. 1 56. 1 51.7 49. 1 50. 0 58. 3
N 6 73. 1 65.5 66. 7 41.5 55. 4 71. 4
/N Bt 30 69. 3 59.3 61.7 51.7 55.8 67.9
— 2 87. 4 86.5 86. 7 81.1 78.6 86. 9
. 2 73.3 68.9 66. 7 52.8 61.6 72.1
= 4 54.0 49.3 53.3 39.6 42.0 53.0
- Py 4 84.3 78. 4 81.7 69.8 64.3 82.9
En 4 53. 4 46. 6 53.3 45.3 42.9 52. 6
N 4 52.5 48. 6 66. 7 37.7 53.6 52. 4
AN 20 64.9 60.1 66. 3 51.9 54.6 64. 1
— (1) 2 70. 1 58. 1 68.3 41.5 56.3 68.5
—(2) 2 75.3 68.9 75.0 67.9 59.8 74.3
—(3) 3 61.6 54. 1 58.3 30. 2 40. 2 59.8
—(4) 3 71.9 66. 2 68.3 41.5 55. 4 70. 4
- 2 23.5 18.9 21.7 22.6 23.2 23.2
= 2 58. 7 43.2 50. 0 32.1 34.8 56. 4
= vy 2 81.2 74.3 73.3 64. 2 73.2 80. 1
T 2 69. 2 55. 4 51.7 43. 4 55. 4 67. 2
A (1) 2 57.5 43. 2 41.7 45.3 28.6 55. 2
N A(2) 2 4.1 3.4 0.0 3.8 2.7 3.9
N (3) 2 48.3 40.5 45.0 32.1 38.4 47.2
N (4) 2 57.2 47.3 31.7 35.8 36.6 55. 1
A (5) 2 81.5 78. 4 78.3 66.0 69.6 80. 6
N (6) 2 29.3 18.2 16.7 15.1 20.5 28.0
/AN 30 57.1 48. 17 49. 6 38.5 42.8 55. 7
— 2 16. 2 10. 8 10. 0 15.1 11.6 15.7
= 2 69. 8 61.5 70. 0 60. 4 62.5 69.0
= 4 27.3 18.2 25.0 20.8 16. 1 26.3
7 Py 4 41.8 23.6 31.7 7.5 19. 6 39.3
T 4 18.8 14.9 15.0 9.4 13. 4 18.2
N 4 49.0 49.3 38.3 39.6 39.3 48.3
/N Bt 20 36.0 28. 4 30.0 23.0 25. 1 34.9




